
Time: 10 Minutes Paper Math 8 (T-2) Total Marks: 10

3rd Month, 1st Week, 2nd Day Exercise 1.20 Complete

 Answer the following questions: (2 × 5 = 10)  
Q.1. Haneef bought a car for Rs. 550000. He sold it for Rs. 605000 after some

time. Find his profit percentage.

 605000  550000 


Q.2. The marked price of an article is Rs. 3000. Discount on this article is

20%. Find the selling price of the article.

 20  3000 
Q.3. A manufacture sells an article which cost him Rs. 2500 at 20% profit.

The purchaser sells the article at 30% gain. Find the final sale price of

the article.

 30  2500  20 


Q.4. The marked price of every article was reduced by 12% in sale at a store.

A cash customer was given a further 10% discount. What price would a

cash customer pay for an article marked initially as Rs. 7000?

 10%  12% 
 7000 

Q.5. Tahir purchased two toys for his children. He buys Spider Man and Doll

for Rs. 3000 and Rs. 5000 respectively. If a discount of 20% is given on all

toys, find the amount of discount and the selling price for each toy.

 5000  3000 
 20 
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